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N = 0 &8 AF S & Al A
20108 = =20l A LBHSIH OITH A Db ~ CIRH kA Bt
A QIS
M ZZYONLHEERAFTR (LS SHY /UL E)
S Q202 NS LS ALY (e dS)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
OI XH 2F 4 ut 9,791,623 9,220,138 571,485
= 67,800
z 20,000
p) 174,782
= 20,000
< 448,326
Al 9,060,715
SZHOMNLSEERFE (LSS /LU H) 4,740,352 4,265,616 474,736
< 174,253
Al 4,566,099
A2H=2HSWSASAIY 2,139,563 2,538,456 N.398,893
< 72,290
Al 2,067,273
2L AI SHY HI X 743,602 724,552 19,050
308 XXIEHMSOIH 743,602 714,552 29,050
06 NI Ust2x=3 743,602 714,552 29,050
Oxs1Estl |02 2 AL BRI
47,611,0008 » 159 714,165
O ULAINE L 22| BX o1AHY|
29,437,000& * 14 29,437
2Hs nsAs AL 490,612 923,000 N432,388
201 Yet2YH| 13,600 463,000 A449,400
01 At Zelbl 10,000 463,000 A453,000
OA20us E7 2 EE22 &
1,0002 * 105 » 1,0008 10,000
02 =294l 3,600 0 3,600
OEIsteA 2222 300,000 = 12& 3,600
307 QI2to| A 436,112 420,000 16,112
02 QIZtAAMEX 36,112 0 36,112
OEDsI2A 299 26,112
— 2108 (HEHI0IH )2
17,0008 = 4% = 32AI12F = 12&€ 26,112
O&HIZE JoHENT 2
10,000,000 * 13 10,000
05 BIZ+REZ 400,000 400,000 0
OAOIH StEHE 29|
400,000,000 * 14! 400,000
401 Al&HI L2008 30,000 40,000 A 10,000
01 Al&HI 30,000 40,000 A 10,000
OF .SHISFOIME S2= SXZ2A
30,000,000 * 14 30,000
405 XHiHE SHI 10,900 0 10,900
01 MY =SEFSH| 10,900 0 10,900
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Chel: A2 2RSS SHA (ctel: &
A -3 -H2A(SH) - HEAMY - BES O AFH glggfg Hos
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O&tsr Bilingual 22 29
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OZ=HOUXMENH 29 407,439
—J0E ZA 21| 48,319,000& * 5% 241,595
—20 2 BEXRAA Q1AY]
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— 200 LA 212
44,608,008 * 19 * 304 133,824
—LH=0l ZAL Q2]
30,496,600& * 2% » 3 182,980
— w7, MRESF 7Y & 22|
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— AL & ol24H|
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Ox=S&td Jodess X
300,000 * 144H = 100.2314% 43,300
[ 43,300
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Al 2,498,826
[ E2 DR X4 1,654,760 964,760 690,000
201 L2y 5,760 5,760 0
01 AR eIt 5,760 5,760 0
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01 2013 500,000 300,000 200,000
OYFNUMSLZSE J12 S0
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SNZAE SLANMBINE(E) 443,824 455,930 ~12,106
= 101,963
Al 341,861
308 XHXICHHI SO & 443,824 455,930 A12,106
= 101,963
Al 341,861
EPENEEES 443,824 455,930 ~12,106
OB DBAE LA PYUIXI
1642 * 16,5153 + 1802 * 91.0365% 443,824
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—SHOIX |RXZ=Hl 80,000& = 108 800
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M 28l 3,650 3,650
OOXEAENEHE 2 2l 2,650
—=SUN Y 10,000& * 5% * 5& 250
-3z #Y 5,000& = 50 250
— ==&/ #¢ 7,000& = 501 350
—-2383 78 30,000& » 10& 300
—OIXEAH0IE E aZ 38 o5+
1,500,000 * 14! 1,500
OONEBAEIEE O+ E 2N 1,000
— =g ASAS 10,000& * 100g 1,000
o I 2| 4,000 0
& AHH | 4,000 0
O&FAad =Z3t2ld SHO0IX W&l
4,000,000 * 14! 4,000
BIZHOI A 126,600 46,600
It E = 126,600 46,600
OFAdSE2 2 (I, RRUHXNE
3,700,000& 128 44,400
OObtet=g & 2l Ry, &8s X3 2,200
-8y 20,000& * 25& = 23 1,000
—dol=z 100,000& = 128 1,200
OFAY 4B SY(HIS, HHTY)XE
80,000,000& * 14 80,000
AHoEH SHI 55,600 1,000
AR =SS HSHI 55,600 1,000
OFAHZYY AF ARES 37,100
—HU=SADI(SE) 5,000,000& * 1CH 5,000
— A 170,000& = 10 1,700
—ZFEHEA(22) 266,000& * 62f 1,596
—IHHI (5EH) 220,000& = 10 2,200
—AtRE2X 150,000& = 10 1,500
—oXH(HUWEA 8) 82,000 * 182f 1,476
— &9k 385,000 * 42f 1,540
—dEEA 142,000& = 204 284
—& X 190,000& = 8JH 1,520
— M (SIHHES) 123,000& = 104 1,230
—ZEH 500,000& = 274 1,000
—DVD 600,000& = 1CH 600
— A IH(321) 510,000& * 44 2,040
—ZIH(1el) 268,000& * 20K 536
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Mo HAW 84 Y BS(ASEN/S0 - HAH)
Chelr HAE R4 (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
OFAdE Roiztd AL 243
100,000& = 124 * 128 1,200
307 GI12+0I & 41,200 46,200 A5,000
04 QIRFHAIE X 25,000 30,000 25,000
CEEL TV R LRI PNE
SHA Al&A 10,000,000& = 14 10,000
OEAF2EHN T2 29
5,000,000& = 3JH 2 15,000
05 2IRIRAES 16,200 16,200 0
OFAEXJAME T2 (A2lHA) 29
3,000,000& 14 3,000
OFAUTRME SEAR(HDS) 29
800,000& * 43| 3,200
OBAENRMEH AQII2SUS 29
5,000,000& * 13l 5,000
OBAW T2, &0, WETL0| oig AT 2
= 5,000,000& * 13l 5,000
308 XX HHSOIH 22,400 22,400 0
06 WII2UUSEEXZ 22,400 22,400 0
OAZ2 ZclA(LEHNY) 2 22,400
— QI 2 H] 600,000& * 4H « 8& 19,200
— =234l 400,000& * 8& 3,200
HAGSWSOMI0I2S X2 (=) 135,600 153,800 A 18,200
= 67,800
L= 23,730
Al 44,070
307 GI12+0l & 135,600 153,800 A 18,200
= 67,800
= 23,730
Al 44,070
05 BIZtRE = 135,600 153,800 A 18,200
OHAEYLZOIE0 2
135,600,000 * 1044 135,600
= 67,800
= 23,730
Al 44,070
FAEIZR2UR2H(R) 40,000 40,000 0
= 20,000
Al 20,000
307 212t01& 40,000 40,000 0
= 20,000
Al 20,000
05 GIZtRAEZ 40,000 40,000 0
OFAEZRY 2¢ 20,000,000& * 2002~ 40,000
= 20,000
Al 20,000
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HAEZEHR2A (L) 7,000 7,000 0
= 2,100
Al 4,900
307 QIz2tol & 7,000 7,000 0
°c 2,100
Al 4,900
05 QI2tAEZ 7,000 7,000 0
OAEHZBEY 2H X 7,000,000& = 1JH 7,000
= 2,100
Al 4,900
ANZEHHAKLE 29 (=2) 3,000 3,000 0
J| 1,500
Al 1,500
307 QIz2tol & 3,000 3,000 0
J| 1,500
Al 1,500
05 QI2tRAEZ 3,000 3,000 0
OANZEHRSS &9 3,000,000& * 1J0HZA 3,000
| 1,500
Al 1,500
N3FAE AMIRE T2 6,700 6,700 0
= 2,000
Al 4,700
307 QIz2tol & 6,700 6,700 0
= 2,000
Al 4,700
05 QI2tAEZ 6,700 6,700 0
O3 AYE AlgldsTmz)e
,700,000& = 14l 6,700
°c 2,000
Al 4,700
DEAELHEAIE TE2)HSAI] 6,600 5,400 1,200
J| 3,300
Al 3,300
307 QIz2tol & 6,600 5,400 1,200
| 3,300
Al 3,300
05 CI2IRAEZ 6,600 5,400 1,200
OFAELEHAE T2
6,600
J| 3,300
Al 3,300
THAESSARFLAHRK(Z2) 80,000 80,000 0
| 40,000
Al 40,000
307 GlzZtol & 80,000 80,000 0
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N EH - S2A(3H) - MRAE - BES &HeR @Egj R
| 40,000
Al 40,000
05 CI2t9IErz 80,000 80,000 0
OHAEZSRAME X2
80,000,008 * 14! 80,000
| 40,000
Al 40,000
PHAHNGNEH SN (E) 73,000 73,000 0
= 12,010
Al 60,990
307 12+0I & 73,000 73,000 0
= 12,010
Al 60,990
05 BI2teIEt3 73,000 73,000 0
OFAHNLYUEH SYX 2
73,000,008 * 14! 73,000
= 12,010
Al 60,990
RHAASRAIL NSAHIRR (2) 19,440 19,440 0
| 9,720
Al 9,720
307 812+0I & 19,440 19,440 0
| 9,720
Al 9,720
05 QI2t9iEtz 19,440 19,440 0
OFAEXSA BHRIXI® 19,440,000 * 14 19,440
| 9,720
Al 9,720
NBHAELBA LAY (2) 200,000 267,000 67,000
401 Al&bl L =2l 200,000 267,000 67,000
01 Al&| 200,000 267,000 /67,000
OFAHSEOIE 242 200,000,002 * 14 200,000
N2HAE 25ZE XA(2) 38,000 38,000 0
8] 19,000
Al 19,000
307 12+0I & 38,000 38,000 0
| 19,000
Al 19,000
05 pI2teIEta 38,000 38,000 0
OFrHSESY 38,000,0008 * 1H 38,000
| 19,000
Al 19,000
AEHIFASD 2Y(E) 36,760 0 36,760
= 11,028
Al 25,732
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307 2I2+0IH 36,760 0 36,760
= 11,028
Al 25,732
02 BINANBE 36,760 0 36,760
OFAUHFASD 2 36,760,002 * 14 36,760
= 11,028
Al 25,732
Had SOrRIES(2) 12,000 21,000 9,000
| 6,000
Al 6,000
307 2I2+0IH 12,000 21,000 A9,000
| 6,000
Al 6,000
05 PIZteIES 12,000 21,000 9,000
OHAW Sof2l X 1,000,008 * 1294 12,000
| 6,000
Al 6,000
WELP[E-F-PNEE-E T 2,700 0 2,700
= 900
Al 1,800
307 2I2H0IH 2,700 0 2,700
= 900
Al 1,800
04 QIABALRE 2,700 0 2,700
OL2SHA LB S
1,350,008 * 28l 2,700
= 900
Al 1,800
Mo met D& (2L BB /HF) 3,490,694 3,808,946 ~318,252
| 95,262
= 219,305
Al 3,176, 127
HMSAL 25 566,630 811,050 244,420
TTASAL 29 80,500 745,000 664,500
401 AEHI LS 80,500 645,000 564,500
01 Al&| 80,000 601,000 A521,000
OZ=ZH ASAL SXTA(RSA AHC,
7=)) 50,000,008 * 14! 50,000
OMOIESH &% ZAt  30,000,0002 * 14 30,000
03 Al& S CHY| 500 4,000 A3,500
OZ=TY HSAL(RUAL)EXTA
50,000,0008 * 1/100 500
SUHSAE 29 86, 130 66,050 20,080
201 Yereg| 12,730 6,050 6,680
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Sl MSAL =5 (el &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 AR eIl 4,540 3,400 1,140
OXMSHSIZLZE(QAS) 4002 * 1,000 400
OBJINSE 2 MIIAHBAX U f@+2
2 95,0008 * 12742 1,140
OMSoIZe ¢ W28l SRS M
60,0002 * 5& * 103l 3,000
02 IT2YH| 8,190 2,650 5,540
OZJIHSHZ &Il AR
300,000%% * 120e 3,600
0523 #2HA2L2 50,0002 * 23l 100
0223 Jax40E 150,008 + 13 150
0223 ®IINEE 200,0002! * 1242 2,400
OZJISED SAMN 22
70,0002 * 23] 140
OBJINSE D H4+CASE
10,0002 * 1202 1,200
OZIINSET SH4+EASE
50,0008 * 12742 600
401 AIEHIL2CH] 73,400 60,000 13,400
01 Al 73,400 60,000 13,400
OSUHSAE 2517 &
60,000,002 * 14} 60,000
OSURSAIE B4 200,0002 * 677 4 13,400
MIEILIAE BIOIRAIE &R 400,000 0 400,000
401 AIEHIL2CH] 400,000 0 400,000
01 Al 400,000 0 400,000
ONRIBILIAR HIJHAILSX]
400,000,000% * 141 400,000
MEsy £4 2,924,064 2,997,896 AT73,832
| 95,262
= 219,305
Al 2,609,497
Mg g4 50,000 100,000 A50,000
307 BI2HOI 50,000 100,000 A50,000
02 PIAAMBE 50,000 100,000 50,000
OMYEREMA AJNSTR (R4, 24, 84
) 50,000,002 * 14} 50,000
MSHA X2 1,022,960 1,305,960 283,000
202 01t 3,360 3,360 0
01 =2Uloibl 3,360 3,360 0
OMBEIL Q1& 70,0008 * 2% » 22 * 123 3,360
301 YB3 5,600 5,600 0
10 BAAHIRAS 5,600 5,600 0
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SN
X XH .
S Tt

oLk

St
Dot RE(SSUDE/HE)
3 x4

_ _ SIEN
SN - EH . S(3) - MRAY - BES 0 Ak o4 Sl ko HRz2
O HAMSHE EIIX Oft
70,0002 * 80 5,600
307 2120l & 1,014,000 1,297,000 A 283,000
04 BIZHHAIE X 1,014,000 1,277,000 A 263,000
OAl NEZ d&lz 3,000,000& » 14l 3,000
Ok NEZ a2zl 3,000,000& * 14! 3,000
ONZIIED| 253 X2
3,000,000& * 7&5= 21,000
OFILAMSHSIXN Y 49 952
40,000,0008 * 10HZS 400,000
OHESIIZE2 ¥ HAZS 84 50,000
—5J18= 2,000,000& = 10&= 20,000
—FAE= 2,000,000& * 10&5= 20,000
—S.otH =& 5,000,000& * 23l 10,000
Oz=g AZHSHS HoHAH
1,000,000& * 10&5= 10,000
Ot DD SHFH
5,000,000& * 2JH1 10,000
Oz H20HE SHLYSXL
30,000,0008 * 1| 30,000
OBLSTHHAMSHE BIHHSE MS2X
&) 50,000& * 80H 4,000
OM47sl ZSZSHIUE &N
3,000,000& * 13l 3,000
ON318l YFAHSHE HE Bl 310,000
—JHE &bl 100,000,000& = 13 100,000
~N2HSHE SHE XL
10,000,000& = 19HS5¥HS 190,000
—NSIHEHE 5. .05 DX
1,000,000& * 2004 20,000
ONdgsl Z=E0 MU &It b
70,000,008 * 13l 170,000
HEHNE =4 309,480 290,360 19,120
301 et asg 39,480 43,360 A3,880
10 SAAHIEA S 39,480 43,360 23,880
OMEHSNEK DFOI
70,0009 * 8% * 22 43| 4,480
OIS 2 SHESFI(HOEE S) 52
8 =3 1,500,000& * 10&5= 15,000
OSXADI E2% MBS SH(L7 S)
2,000,000& * 10&5= 20,000
307 212H0I & 270,000 247,000 23,000
04 QIZtHALE X 270,000 247,000 23,000
O Y CHAMBUSHE RX(2Y, 57
g) 80,000,000& =+ 14 80,000
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SA QT
HE: YS0ITo DE(SHUBB/HS)
ool HsSE TA (et &
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- o= * - (= R wi e e o = 0:”/‘l|_% Wsa
OXNHEAZH (LY RA4MAl) &R &AM ET S CH
3 = 6,000,000 *« 5JH Al 30,000
OMIMEAZ=E ANLHMEHEUHE A
5,000,000 * 13 5,000
OF=0|2A MBS &3
10,000,000& * 13| 10,000
OHM203 H=E0 MeEd=sUs =&
50,000,000 * 13| 50,000
OAIBIAZ 201043 10,000,000& = 23| 20,000
Od=E2d =123 12,000
— XSS 10,000,000& = 13| 10,000
—Ss A 1,000,000& = 2& 2,000
OABIMEX =S 3,000,000& * 6= 18,000
O2010 HHl=ZHH AHolEE3
15,000,000& = 13| 15,000
OHI3El MUl M2x8 Z2043
30,000,000& * 13 30,000
NREHNR2ERISILNH(T) 1,120,000 1,100,000 20,000
= 170,000
Al 950,000
307 GizZtol & 1,120,000 1,100,000 20,000
= 170,000
Al 950,000
02 QIZtAASE =X 1,120,000 1,100,000 20,000
OUQE(SA, 24, 24)84 X
1,120,000,000& » 1AIHE! 1,120,000
= 170,000
Al 950,000
AMZOHE2MHESESKH(2) 41,856 20,928 20,928
J| 20,928
Al 20,928
307 QIz2tol & 41,856 20,928 20,928
J| 20,928
Al 20,928
02 CI2tAHAE X 41,856 20,928 20,928
OANZ024 MEH = Xl = XHEH X
20,928,000 = 2H 41,856
J| 20,928
Al 20,928
A ZMEIS K S XX (2) 125,568 104,640 20,928
| 62,784
Al 62,784
307 Gl2tol& 125,568 104,640 20,928
J| 62,784
Al 62,784
02 QI2tAAE =X 125,568 104,640 20,928




SN
X{ ZH -
S Tt

&

SN CR(EH) - NRAY - BES

r

[
2

20
B
2

E=EPNEDN: DN

20,928,000& = 69¥

p)
Al

125,568

62,784
62,784

=z

16,000

3,000
13,000

15,000

1,000

307 GI12t0I A

= H

16,000

3,000
13,000

15,000

1,000

=z H

16,000

16,000

3,000
13,000

15,000

1,000

=

35,100

10,530
24,570

16,620

18,480

307 2120l &

=

35,100

10,530
24,570

16,620

18,480

04 BI2HE AL

(57, HUA 8 1085)2Y

3,510,000&  10&5=

=

35,100

35,100

10,530
24,570

16,620

18,480

= H X

23,100
11,550
5,775
5,775

15,332

7,768

307 2120l &

=X

23,100
11,550
5,775
5,775

15,332

7,768

02 2I2tA 4
=
=

= H X

23,100

23,100
11,550
5,775
5,775

15,332

7,768

= M

180,000

30,000
150,000

180,000

307 2120l &

= H

180,000

30,000
150,000

180,000

04 BIZHHAIE X

180,000

180,000




S OITHA It
33 A Zeh 7E( 2Z/H=)
el A 8 x4
SH - BH - S(S) - NEMY - BES sy e
Og=F=AAOtEM2l HEl K&
180,000,000 * 14! 180,000
= 30,000
Al 150,000
3k 2E LB AR /2502) 373,584
= 20,000
S 3,000
Al 350,584
cH2 =29 373,584
= 20,000
= 3,000
Al 350,584
Al N2 22 342,246
= 20,000
Al 322,246
QA 9,997
JIZHMZ2XNsE = 9,997
OZANEF & B= 2URY 9,997
—JI=s 32,880 * 2% + 1202 7,892
T 32,880 » 23 * 26 1,710
PN E = 32,8803 » 2% * 6 395
2ot | 69,249
AFE 22|l 13,695
OFAES 2 EAEE £¢ 50,0008 » 123 600
OoolZgxE ot&X 7Y 35,0003 * 302fA 1,050
odl|zdiE 7 15,0008 * 128 ~ 128 2,160
OENMHCES 5,000
—TANECE 200& + 20,000 4,000
—SANUHES MA eI 200& * 5,0000H 1,000
OUXNETtzd 2el 1,000
—A=4 o=A 7Y 30,0002 * 207K 600
—Xt=4 PC #=2l 100,000& * 20CH *20/100 400
OAMEEZA2 28223 34 =&
70,0002 » 9H * 23 1,260
Oz A2 HRFE S4|
5,000& * 18 » 365¢& 1,825
OEEA(SAEHE) HE 500& * 1,0000H 500
OSAEE MY &2 HZ& 60,0008 * 5K 300
33234l 55,554
OANE A2 2t 55,554
—HIIAE = 5,170& = 250kw » 128 15,510
— &5t Al E = 300,000& = 123 3,600
—fIgsS g2k 2| 40,000& * 12/ 40
—2ZNe RE= 300,000 * 23 600
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ST R D =P}
M DTCABEE L 2(2HLBY/23002)
Gl CA 2 ECR-ED
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—EAZE3 A3l 420,000& * 13 420
=a=a] 1,4503 * 10L * 8AIZ2+ = 120 13,920
— A== Xl 2,434 = 808m * 50/100 984
—HEI A A X 1,200,000 * 14 1,200
—2s8 MY SsA
500,000& * 141 = 128 6,000
— A0 FAAE SXIH 110,0008 « 128 1,320
— SN EZZ2 O XY
100,000& = 5&8 = 14 500
—EMHO0lIXl &Xb 130,000 * 128 = 14 1,560
—SENZAYXAIAE 7|
3,000,000& 14 3,000
— g 2 otFED| WA 500,000& * 14 500
—&83L ¥ o= Hi2AFEA
200,000& * 14 200
—=83 ¥ 250,000& * 23| 500
—otMdae| =2  200,000& * 2& * 12& 4,800
—SMZeIMH Bigel WXl
500,000& * 14 500
—CXIEX=4 DVD Sd0I0 2el
100,000 = 4CH 400
207 HINEHI 165,000 0 165,000
02 MAHEHI 165,000 0 165,000
OgAZY &= SHOIX(SZEOAES)NAS
20,000,000 * 14 20,000
OUSIAIAE I BOIAIAE 25
145,000,000& = 14 145,000
307 GI12+0I & 35,000 0 35,000
04 QIRFHALE X 25,000 0 25,000
O=HMe & JIE&A 15,000,000& * 14 15,000
ONBSHRAS BHABD
10,000,000& = 13 10,000
05 BIZtRE = 10,000 0 10,000
OSAEBE Z208 2% 10,000,000& * 14 10,000
403 XXM SA201H 40,000 0 40,000
= 20,000
Al 20,000
02 BI|12SO0CHSHCHEE AL I 40,000 0 40,000
OZ23=AM2 Izl
20,000,000& * 2002 40,000
2 20,000
Al 20,000
405 AHoHESHI 23,000 0 23,000
02 =AY 23,000 0 23,000




S oIS It
HH: BDCNUEE L 2Y(2FL2Z/280s)
B©el A2 29 (o &e
- _ o AT
FA R CA(EA) - NFAY - BYES Ofl &F <4 Ol & o8 HlunsSZ
@)=y Eel 15,000
—neg 10,0002 * 1,000 10,000
—dz 20,000% * 250 5,000
OHI= A (0VD) & 25,0002 * 1208 3,000
OUXIgAE= (M= §) 7¢
50,0002 * 1005 5,000
e &4 25,338 0 25,338
101 Q124 11,838 0 11,838
04 JIZHZE2NHEE % 11,838 0 11,838
FEo N2 29 o2y 5,919
—Jl=a3 4,108 = BAIZE * 28 » 120 5,919
OSSN 2g 2Y 5,919
—Jes 4,108 * BAIZE * 22 » 120 5,919
201 ety 2,500 0 2,500
01 AtR2rel] 2,500 0 2,500
O Mz 283Hl 1,000,0008 * 2744 2,000
OFdzezM2 2524l 500,0008 * 17HA 500
405 XHatF S 11,000 0 11,000
02 EA7H 11,000 0 11,000
OFFXSTHE TAH 2 (RY)
10,0002 = 1,0002 10,000
OFHEX2Z M HIZAM (W S) 7L
25,0009 * 408 1,000
e 2H(%) 6,000 0 6,000
< 3,000
Al 3,000
403 TtXISHH S0l 6,000 0 6,000
< 3,000
Al 3,000
02 2712 S0l T & CH & AL 6,000 0 6,000
OstuuUbisEM2 2822
500,0008 * 1JHA * 128 6,000
< 3,000
Al 3,000
HYSSFHI(AMS L) (JIEH/IIEH 152,902 105,122 47,780
ol 2 57,684 31,886 25,798
el 2| 57,684 31,886 25,798
101 Ql24d| 52,284 27,986 24,298
03 RINAA22XE = 52,284 27,986 24,298
OOtXlE HAHIHT el 27,970
-J1=3 38,0002 * 1% » 2532 9,614
—d03 4,7502 * 209A12F * 400% 3,971
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S oA
Y HE LAY (TS ) (IIEH/IIE})
&l QI 2AH| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o als B RS2
0f 4 o8
—HEFIOL 47503 * 200AI2F « 75% * 23] 1,490
— B (S X) 40,0008 * 1Y » 12& 480
—Jt&E=2(JIEH) 20,000& * 29 * 12& 480
-2t 5,000& = 949 * 128 540
LR
71253 = 15A12F » 18 + 128 1,283
—sY2RE
38,0003 * 150% = 1H * 90 5,130
—F5=g 38,0003 * 52 1,976
—5=2 5€=¢ 38,000& * 19 * 12¢ 456
— XRS5t =9 38,0008 * 1% » 19 722
—= &t 100,000& = 1 * 12& 1,200
—w=SHl 44,0008 » 18 » 128 528
— =l 100,000& = 1€ * 19H 100
OANE =AM FAr2e| 24,314
= 38,0003 * 1H = 253 9,614
—&0= 4,750 * 209AI2t * 400% 3,971
—HEFOt 4,750 * 209A12F * 75% * 23] 1,490
—2E0t4tE 50008 « 1H + 5E « 128 300
—AlZt2l 224
71253 « 15A12F » 1Y « 128 1,283
-5y 224y
38,000 * 150% » 1H = 50 2,850
-5 38,0003 * 104 * 52¢ 1,976
—5a8 5= 38,000 » 1H = 12 456
—AXtsE 38,000& * 1 » 17 646
—= &l 100,000& = 1H = 12& 1,200
— S| 44 0003 + 1€ » 123 528
203 YR =Y 4,200 2,700 1,500
04 RN2ILRF=LH 4,200 2,700 1,500
O & It 4,200
—SREA2EHRFH 350,000& = 12& 4,200
204 X R AH 1,200 1,200 0
01 Mg PP AH| 1,200 1,200 0
OXHMg RFAH| 100,000& = 1" = 12& 1,200
Jl2&Hl 95,218 73,236 21,982
Jl=2&H| 95,218 73,236 21,982
201 LetEIH| 18,018 15,336 2,682
01 AtER22/Hl 18,018 15,336 2,682
OJI2dE AIRESHI 3,120
—SAEX 2]
13,000& * 202 A « 12&8 3,120
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ST R D =P}
Y HE LAY (TS ) (IIEH/IIE})
&t JI=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OS2 A d| 5,000& * 64 » 20& » 128 7,200
Ot =2 100,000& = 12& 1,200
OL1E EM7YYI 50,000& * 12& 600
OL72 =&t 6,700
—SAII(AE) =2 500,000 * 1CH 500
—Zely =cl 100,000& = 4CH = 50/100 200
—SAMI ElH 200,000& = 53| * 104 1,000
—ZEIH(E%) EH  200,000& * 53 = 4CH 4,000
—pc==cl 100,000 = 20CH * 20/100 400
—JIEtz=2lH] 50,000& = 12& 600
OJIEH At 22| 5,000& » 209 * 12& 1,200
Ol aHE 2 20,020,000& = -10/100 A2,002
202 044l 77,200 57,900 19,300
01 =W 77,200 57,900 19,300
OZ LI 20,000& * 209 = 12 = 12& 57,600
O&2 ¢l 70,000& * 209 * 14« 19,600
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